[image: ][image: ]

[image: ]

[image: ]
[bookmark: _GoBack][image: ]
image1.png
////////////;%%/s\g\%
""'"""”"WW §§\\\\\\\\\\\ \\\\\\\\\\\
i e \\\\\\\\\ N\
e \\\\\\\\\\\\\ \
\\\\\\\\\\\\\\\\\\\\\\\\\\\“‘V{{\‘{\‘\‘{\‘“"“ \\\\\\\\\\\\\\\\\ \\\\\\\\\\\\\\\\\\\\\\\\\
\ \\\\\\\\\\\““‘ S \
\\\\\ ,;;,,;;//if'f’;é”};}'l'/'},',','ﬂmuuu T
N\ égg/zzfé%%,,,}'ﬂwunm, It
0 /;//5///////%///////////""'m
§§~/Z%////’////’////////////////
= /gv/// )




image2.png




image3.png
i





image4.png
displacement magnitude SO J
.459
.299
.138
L9774
.8168
L6562
L4956
.335
.1745
.01389





image5.png
——————
—————

=\

AN

N
.

///%;%\\‘*
%%i\\\\zz\\\\\\\ \\\\\ R\
72220 L RN
N

\ \\\\%\\\\\\\\\\\\\&&\R?\\\\

|

|

\

//;
1 22258
// %& §§§\\\\\\\ \\

= N \
0
i ama

\\\\ !

.

* N

—

\
o
i

—

.

b

\
i

i

———
—

! g.....:.:m\\\||||||IIIII|||\\\\||\||\\\|\\ i

ccccccccccccccccccccccc
\\\\\\\\




